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© Essay questions part I: (10% each)

1. A business perspective on information systems can be described as “Business
Information Value Chain,” explain the major business processes, information
processing activities, and management activities involved in this value chain.

2.  Why do some firms obtain greater value from their information systems than
others? Based on resource perspective of MIS, comment on the complementary
assets required for information technology to create sustainable competitive

. advantages for businesses.

3. Define IT infrastructure ecosystem; describe its major components and their
contemporary trends.

4. . Based on the example of customer decision support system (CDSS), describe
main components of a DSS and the way DSS provide value for a business. :

5. Identify the principle risk factors in information systems projects; suggest
appropriate strategies for managing project risk and system implementation.

© Essay questions part II:

6. How attitudes toward inter-organization relationship establishment affect the
willingness to share knowledge and how this association is affected by the
control over resources and use of resources? Describe a theoretical model from
four or five conceptions as followings (20%) and future research (5%) .

!

Power Symmetry
" Relational Benefits

Dysfunctional Conflict
Relational Proclivity
Connectedness
Relational Risk

Loss of Competences

R =

7. To the best of your knowledge and practices, construct a new evaluation model
for the general evaluation problem of the critical strategy which can facilitate a
successful enterprise resource planning systems implementation for enabling the
goal alignment between the project team and the organization. (25%)
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A deque is a data structure consisting of a list of items, on which the following
operations are possible:

push(x): Insert item x on the front end of the deque.
pop(): Remove the front item from the deque and return it.
inject(x): Insert item x on the rear end of the deque.
eject(): Remove the rear item from the deque and return it.
"Write routines in pseudo-code to support the deque that take 0(1) tlme per

_ 'operatmn (16%)

Describe, in pseudo-code, an algorithm for computing the number of descendents
of each node of a binary tree. (14%)

Transform the following predicate calculus into the prefix form: (10%)

—XAYVYAZVIA—Z ,

Consider a‘s'équence ofkeys: 1,2,3,4,5,6,7,8,9. Please draw the result by
inserting these keys successively into an empty

(1) binary search tree (5%)
- (2) AVL tree (5%)
3) 2-3 tree (5%)

. The recursive function G listed below is 1mp1emented in C programming
.language. = What is the returning value of G(15, 6)? Why? (10%)
" int G(int m, int n)
{
return((m%n == 0) ? n : G(n, m%n));
}
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1. Switches are called Layer _____ devices.
(A) 1 (8) 2 (€3 (D) 4
2. Ethernet uses a(n) topology.
(A) bus (B) mesh (C) extended star (D) point-to-point
3. Which 802 Working Group creates security standards?-
(A) 802.1 (B) 802.3 (C)802.11° (D) 802.16
4. Bluetooth offers a rated speed today of about .
(A) 3 Mbps (B} 11 Mbps (C) 22 Mbps (D) 54 Mbps
5. In the mask 255.255.128.0, how many 1s are there?
(A) 16 (B) 17 (C) 18 (D) 19
6. A TCP _____ segment is a request to open a connection.
(A) SYN '(B) ACK (C) Open (D) Connect
7. _____isused for supervisory messages at the internet layer.
(A) TCP (B) DNS (C) DHCP (D) ICMP
8. Unsolicited commercial e-mail is
(A) spam (B) adware .(C) identity theft (D) social engineering
9. The most popular client-side scripting languageis _____ . .
(A) PHP (B) ASP.NET (C) JavaScript (D) VBScript
10. As a process executes, it changes state. Which of the following is not a process
state? ’
(A)New  {(B) Save (C) Ready (D) Waiting
11. _____is a graphical language that allows people who design software systems to
use an industry-standard notation to represent them.
(A) ERD (8) DFD (C) sQL (D) UML
12.The _____ program combines the output of the compiler with various library
functions to produce an executable image.
+ (A) editor {B) linker. (C) loader (D) preprocessor
" 13. For a local variable in a function to retain its value between calls to the function, it
must be declared with the ______storage-class specifier.
(A) auto (B) extern (C) static (D) register
14. ____is a software stack for mobile devices that includes an operating system,

middleware and key application. .
(A) Mac OS (B) Windows 7 (C) OpenVMS (D) Android
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15. is a group of interrelated web development techniques used on the
client-side to create interactive web application.
(A) Ajax (B) CGI {C) Java Server Pages (D) .NET Framework

16.___ are frequently used to model the processing requirements for most new
systems.
(A) Organization diagrams ’ (B) Data model diagrams
(C) Data flow diagrams (D) Connectivity diagrams

17.____ are used during requirements elicitation and analysi§ to represent the
functionality of the system.
(A) class diagrams (B) statechart diagrams
(C) activity diagrams (D) use case diagrams

18. _____isthe study of a current business and information system application and the
definition of user requirements and priorities for a new or improved application.
(A) System planning (B) Systems analysis
(C) Systems design ' (D) Systems Implementation

19. __files are XML-formatted text files that reside in Web site’s root directory and
typically specify configuration setting for the site.
(A) Setenv.aspx (B) Global.asax (C) Aspnet.ini (D) Web.config

20. ______is a process improvement approach that provides organizations with the
essential elements of effective processes that ultim'ately improve- their
performance.

(A) SCMP (B) OOSE {C) CMMI (D) RARD

21. s a free social networking and micro-blogging service that allows users to
send updates through short messages or links, which can be up to 140 text
characters in length.

(A) Plurk (B) Firefox (C) Stimator (D) BitComet

22. Which of the following is the category that includes individuals who sell products or
services to organizations, as well as individuals who seek sellers, interact with them,
and conclude a transaction?

(A) B2C (B) C2C (C) C2B (D) B2B

23. ____ describes a new supplement, consumption and delivery model for IT services
based on Internet, and it typically involves the provision of dynamically scalable and
often virtualized resources as a service over the Internet.

(A) Grid computing ’ (B) Cloud computing
(C) Paralle! computing (D) Mobile computing
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24. Objects have the property of _ ~ — although objects may know how to
communicate with one another across well-defined interfaces, they normally are
not allowed to know how other objects are implemented.

(A) information hiding (B) inheritance
{C) polymorphism (D) overloading
25. Which of the following is true? ,
(A) The address-operator & can be applied only to constants and to expression.
(B) A pointer that is declared to be of type void * can be dereferenced.
(C) Pointers of different types can never be assigned to one another without a.cast
operation.
(D) Pointer can be assigned to one another if both pointers are of the same type.

., 26. What is the computational complexity when solving the traveling salesman .
problem via brute-force search?

(A) O(n) (B) O(n?) o) (D) O(nl) -

27. What is an algorithm which employs a degree of randomness as part of its logic?
(A) output-sensitive algorithm (B) deterministic algorithm
(C) empirical algorithm (D) probabilistic algorithm_

‘ 28. Which one of the followings is not a classification algorithm?

(A) C4.5 (B) ID3 (C) CHAID (D) DEFLATE

29. Which one of the following abstract data types retains the input order?
(A) list _ (B) bag (C) set (D) map

. 30. What is an algorithm that can process its input piece-by-piece in a serial fashion,
i.e., in the order that the input is fed to the algorithm, without having the entire
input available from the start?

(A) offline algorithm (B) online algorithm
(C) adaptive algorithm (D) stable algorithm
31. Which one of the followings is a link-state routing protocol?
(A)IGRP - (BJEGP (C) OSPF (D) BGP
" - 32. Which one of the followingsf is not a property of a database transaction?
(A) atomic (B) consiste’Ht (C) isoljcxted (D) distributed

33. Which one of the following fnormal forms is defined by “every non-trivial -
multi-valued dependency in the table is a dependency on a superkey”?
(A) 4NF (B) BCNF l {C) 3NF (D) 2NF
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34. Which one of the followings is often used to |mplement the dimensional model on
top of the relational model?
(A) tree schema (B) star schema
(C) sun schema (D) moon schema

35. Which one of the followings is not a data manipulation language in SQL?

(A) insert (B) update (C) create (D) delete
36. Which one c;f the followings is not a referential action in SQL?

(A) CASCADE  (B) RESTRICT (C) NO ACTION (D) TBIGGER
37. Which one of the followings is not a relational algebra operator?

(A) EXECUTE - (B) RENAME (C) DIVISION (D) SELECTION
38. What is an entity that cannot be uniquely identified by its attributes alone?

(A) string entity (B) weak entity

(C) regular entity (D) foreign entity
39. What is a class that cannot be instantiated?

(A) inner class (B) concrete class

(C) abstract class (D) anonymous class

40. What is the act of casting a reference of a base class to one of its derived classes?
(A) inheritance (B) polymorphis;n (C) upcasting (D) downcasting
41. What is the relationship where one object belongs to another, object and behaves
" according to the rules of ownership?
(A) has-a (B) is-a (C) associate with (D) comply with
42, What is an object that allows a programmer to traverse through all the elements of
a collection, regardless of its specific implementation?
(A} index (B) iterator (C) reference (D) generator
43. Which one of the followings is not a mechanism of process synchronization?
{(A) semaphore (B) mutex (C) vector (D) monitor

44. Which one of the followings does not use the stub/skeleton approach?

(A) RPC (B) DCE (C) RMI (D) DES
45. Which one of the followings is generally not a feature of a message-oriented

middleware?

(A) synchronous delivery (B) persistent storage

{C) message routing ’ (D) message transformation

46. What is the classification of array processors according to Flynn's taxonomy?
(A) SISD (B) SIMD (C) MISD (D) MIMD
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47. Which one of the followings is an ontology language?
(A) IDL (B) ALGOL (C) OWL D)ML

. 13
48. What is the field of management that focuses on establishing and maintaining
consistency of a system's or product's performance and its functional and physical

attributes with its requirements, design, and operational information througﬁout its

life? ' - '
(A) network management (B) program management o
(€) model management (D) configuration management

49. What is a physical infrastructure through which Internet service providers (lSPs)
exchange Internet traffic between their networks?

(A) Internet exchange point . (B) B) domain name registrar

(C) proxy server . (D) Internet gateway l
50. What is the length of an IPv6 address? ‘ ‘

(A) 64 bits (B) 128 bits (C) 256 bits (D) 512 bits
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